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Aptitude most nearly means

A. disposition
B. talent

C. height

D. test

Answer: B

Explanation:
Aptitude means talent.

Which word does not belong with the others?

A. guitar

B. drummer
C. piano

D. saxophone

Answer: B

Explanation:
Drummer is the only word in the list that refers to a human being. The rest refer to musical instruments.

Approximate means the opposite of

A. precise
B. estimate
C. inexact
D. attempt

Answer: A

Explanation:
Approximate means estimated, the opposite of precise.
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Which word does not belong with the others?

A. desk
B. chair
C. table
D. furniture

Answer: D

Explanation:
Furniture is the general class that all the other words in this group fit into.

Eileen left for the airport after Sara left. David left before Sar

a. David left after Eileen. If the first two statements are true, then the third is
A. uncertain

B. false

C. true

Answer: B

Explanation:
We can diagram this as sequence follows: D > S > E. If it is true that David left for the airport before
Sara, then he was the first of the three to leave. The third statement cannot be true.

Sniper is to aim as tightrope walker is to

A. fear

B. balance
C. net

D. circus

Answer: B

Explanation:
A sniper must have good aim; a tightrope walker must have good balance.
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Endearment most nearly means

A. imprisonment
B. suspicion

C. affection

D. venison

Answer: C

Explanation:
Endearment most nearly means affection.

Eminent means the opposite of

A. disliked
B. mental
C. interior
D. inevitable

Answer: A

Explanation:
Eminent means esteemed or distinguished, the opposite of disliked.

Earl has fewer coins than June. Dean has fewer coins than Earl. June has more than Dean. If the first two
statements are true, then the third is

A. uncertain
B. false
C. true

Answer: C

Explanation:
We can diagram this account as follows: D < E < J. If June has more than Earl, and Earl has more than

Dean, then June must have more than Dean.

Which word does not belong with the others?
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A. shoulder pads
B. kneepads

C. football

D. helmet

Answer: C

Explanation:
Football is the only item in the list that a football player cannot wear.
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